20194°5H11H (1)

3lEFH7H 8R 215N Vv VT

A—%r ] % & |8R FANEEHFNA YT 3930m & A : 4100, 1600, 1000, 620, 41075F
AP 13:50 |4 SREFARUL A—T> (BE) AIE Py D R asne 3 o 33 o 3 2 1 Grarrc i(
HEE | PEEK (ERSEE BB AR E AR 147 =HifER }Eﬁa BigE GE, F. &) B HTE=L—R& L—T142v9 Y5R 341B= %IIE EE&
78| & E % B F | MBIBMT[B £roiom] @ oom |HMTE=HRAE-H BF-FE 2. 3. 4AEBIEL S{TH=REM - 2—X - BHRE 2/ L THIF (B /J:iJ“J 3 F <¥ittl>
22 | B 2 |ExEs/FE|m  4suT | R 2970 T(64THE = L—X X—XHI3F - difd - HIF (HELY, WEH), SBLY) MT%%3 F 24 A 40—F—#ARMGIEL HFET - ZLER B
&|®| % | @Bow ME | BB | 20085 A BRE ﬁgé S0 b EBA%S  BISF - chRd - $3F G~1) IFE=1HERFE2HE GF%) 1. 2. IWEOME
£E/BE BAoX | B & | 47cARM| # BEFR| proims HiE BiAE 3FERT 4FERT 53R
N—EoTx— H6 | 68 " OA . - . mﬂo 0.0.0 | 23%0.0.0.0 | 19,;)(3,_#0 66 2053 19.03.71}6 13 29R3 18£f 22 10 4HI06 %0,9*%9 [ Aggz ;‘%u{gﬂa a1 2@57
o =2 BEEY B 450-452 | BR#1.0.0.1 | =A1.0.1.0 | = RK—R =7y -T2 =7y bt O % =7y | =
ETFI—X 60.0 .105| ff 60-60 hE0.0.0.1 | =F0.1.0.2 |6 1488 4% 4N 2 Mmoman m |2 103 5% 3N 1 1088 sg 2)\ sb | 3 9 8% 3A K4t
111lo|ex+y47L B | sREE /N 0.0.1.0 | 58 100075 | 460 +2 FAH 60 DD | 458 +8 TR 60 @AM | 450 -2 FEAH 60 @@ | 452 0 FwAM 60 G@D| 452 +4 BAH 60 AR
(#a7%) =R 183 F70.0.00 | ik OE [3140m % B 3:35.0 13.7|3300m ¥ B 3:43.2 13.5|3210m 2 %4 3:38.2 13.6 | 2970m ¥ 7§ 3 0 13.5 | 2860m 2 £ 3:13.3 13.5
#A77-L(FREH) [%] | 3.5.3.16 SR [ ®-®) 37.7 (11) 315 40.4 (24) 125 39.0 (5) 535 39.4 (5) 455 37.3 (9) 335
ABE= 436975 | 1%E12£080 | £F 2.4.2.14| 58 0000 [ A" (1. 3) S5t | MARLY (6. 6) SEdkSe | w2 0y +(1.0) Sk | boh-n-t(-0.5) S | MYany v44(0.8) ks
EEPELT H5 garﬁg %%ei i”% %ﬁg ; 3.1 EE0 g 82 I%E%?ﬁs]] % 3?;24 lﬁeﬂ(gﬁs 47 1@&4 1%.”%?.*%9 47 zii&s I%H%;%:J“ ] A5 ;si.n(g.*lzls 39 4@27
s L, u e G - 0.1 | ZA1.5.0 & = = =
AA23VIITY |50 FT 60-60 BE0.001 | =F0001 |1 145I2E 2N s | 2 14EEIBE IA ks |4 1438 8F 1A 2 1288128 2N K4 | 2 128E10%F 1A 4
A 2| A | <HHRI—LE B | BRA INE0.2.0.0 | 35 RESFI [ 468 -6 EART 60 DDD| 474 -4 EAR] 60 @D | 478 +4 (AR 60 @R | 474 +4 (=AM 60 @DD | 470 +6 {EAR 60 GO
(Belongtolle) FH 143 EFR0.0.0.1 | ik O |2880m = # 3:11.4 13.3|2970m ¥ B 3:20.7 13.52910m = B 3:21.5 13.8 [ 2910m # B 3:18.6 13.6 [ 2970m = R 3:20.5 13.5
FUEE/NRHS GRATET) [%] | 1.5.0.16 2[E1.503 |- - - 38.5 (5) 535 38.3 (5) 455 38.2 (6) 445 39.2 (5) 535 39.5 (12) 315
WARF 280375 izmihso £¥0.00 13| 58 0000 | +)/b-9" M-#(-0.2) FFkk | Y My3{E(0.2) k55 | w3T-4(0.6) #sese | V)-v1-5-(0.2) FeiE | RU7(1.3) ¥
PEEREER 6 54R§X . 492 i %io T0.1 %%0.0.0,] 17}9;04%0 57 ;i%%s w#%?ﬁgju m%lais 19.02.71}0 ;??I 6 | 19. 01909 62 ;q:m % 10. 14470 A%ﬁS
» “ ~ #E3) 0.0.0.2 | =4 0.0.0.4 —Jv =7y -7 -7’y -T2 =7y VA
TARZIV IV 60.0 .111| Fr 58-62 $hE0.3.1.4 | =F251.10| 8 1488 9% 2A 4 128E12% TN RS | 2 1138 3& AA 7 1458 7% 2A 10" 1138 8% 6A 4
3 K] FAFY—HAF HE | mAE RE 43610 [ /M 0.0.0.1 | 3% KREEF | 518 -2 AEIRE 61 @DO® | 520 0 AERE 60 D@D | 520 +4 AERE 62 @@ [ 516 +8 £Fk 62 WA | 508 +6 AERE 60 @@
(T)vay RL/SH—) TR 120 B 4361© | EF0.0.0.1 | ik OF | 3380m Z B 3:45.4 13.3|3900m & B 4:25.4 13.6 [ 3170m & R 3:40.6 13.9 | 3330m = R 3:40.4 13.2 | 3110m 3 #4 3:33.3 13.7
TS (B &ET) [#]| 25119 | £ 0.1.1.4 | 225115 - -®- - - - - 39.2 (13) 215 39.2 (10) 235 38.9 (9) 255 38.6 (12) 155 41.2 (18) 115
RER 662375 | 30543580 | £F 0.0.0.4 | 28 22 0 3 | WAV (2.5) MEE | Y 1972040 (1.8) SRk | MYany v#4(0.3) EEE | /- v (1.9 #kEE | 4-2bvagkk 5.0)  EEE
FAIZTF—R H9 9181&*1 E@%go ;50% gﬁg é g: ézg t]) gg g%ﬁe 99 %ﬁ;m 18# 70 91 5é$hsr|£3 1%_1_0. M«f . Aiﬁ&; g?ogazs 84 zgyﬁg goe 23 76 35%7
=% . IR B - = P N B-% DA FNA Y mo ROy
ARETSHY b 60.0 .056| Fr 59-61 hE1.00.0 |=F6.1.48 |1 8E2EIA W 938 3% 2A thik 1188 3% 5A 3 13@E10% TA s |10 11EENIE 5A kst
il 4o | Fr—nzs— = | mHRE NE0.0.0.0 | 4% 5005 | 504 +16 /MRE 61 DD 488 +10 HERE 60 DDD | 478 -12 /MR 60 DDD | 490 -6 /MRH 60 DDD | 496 +4 MRE 60 DDD
(8=%EHOR) R .44 BEFR1.0.1.0 [ sk 1@ |3170m % B 3:32.6 13.4 [3170m ¥ B 3:33.5 13.5 [ 3110m ¥ #4 3250m % B 3:31.5 13.0 | 3110m ¥ B 3:28.3 13.4
HTEYS FF O BT [#] | 7.3.5.20 | £ 1.0.02 | £6.24.8 | -« -« -+ 40.0 (5) 535 41.3 (5) 535 4.2 38.3 (5) 535 39.7 (5) 535
53T (#K) 16280.275 | #75E120:80 | £F 1.1.1.12| o3y 303 7 | TyM by7" (-3.2)  k5ese | 49 944" (-0.5) ks S | 44b4Y-L(0.1) S5k | 4-atvaawk 3.0) FEE%
N=I554 H8 ’%J " = %( PR @%8 0 33 ého ? 22 19.04.27 60 ;ﬁﬁ 19.02.17 63 g?%ﬂs T8.11. 25 ﬁsns 18.10.27 63 gﬁﬁs 18.10.07 56 ;?%‘BZ
N S~ Hi& = 0.0. A2 —J 7Y — 7Y 7Y -7 7Y -7 7Y
VA=Y 60.0 .077| Fr 60-60 3 0.0.0.2 | =F00.27 |9 148 1E TA BN 3 125 8% 54 :Pu—_nus 1 4N 3 1288128 2N K4+ |5 T 6% 2A
5|5 BE | RBNE ME0.1.0.2 | 55 5005 | 478 +4 HEIRE 60 @Q@@ 474 0 EHRA 60 @O | 474 +14 FERE 60 @A | 460 -8 FERE 60 BPB@ | 468 +16 FLRE 60 @GOG
X 2 . ZFH 000 igo 002 | ik 1E |2890m Z F 3:0?. 1) 13.1]3170m 2 B 3236.)8 13.7]317m = B 2850m = B 320?.;1 13.2| 3170m = B 3:38. 6> 13.8
£)Hh° 77-L (B AT %1 35738 [ %1004 LA @ 39.5 (14) 125 39.3 (8) 515 38.0 39.5 (8) 345 38.2 (11) 415
(B 91 - 662075 | #25£0£0:80 | £F 2.4.3.27| 18 1107 | UT WA V(1.9)  FHkHk | 32-p17-(0.7) ¥ Piririd b U49(0.3) SRRk Chp 2.1) k5
FLSAN— 6 [ 56 T | mERT.0.1.2 | B 0.0.0.1 | 19.03.30 54 2073 | 18.09.15 62 IR7%3 | 18.07.21 62 el 3RERT 0414 54 3:1=u.17_
YLSA T+ T L5HH & 470-472 | R#0.0.0.2 [ =h1.1.23 | EREK—R =7y (REO Y Gl -7 7y | ® P 6l | FRILT S
7 T2 1600 .036| ff 6060 |ehm0003 |SF0009 |13 MUmEISEIUL A5t |8 05 6% OA 7 EIEOA BR 3 8% TA  KsH| 11 128E12E12A xn
6 3 ERt A RE | BEHE | HR 4280 | MR 0.00.0 | 3% KESF| | 484 +14 EHP 60 @O | 470 -4 LHF 60 QOO | 474 +4 HHH 60 DDD | 470 -8 HHIR 60 @@ | 478 +4 HEHM 63 QLD
(FAon—hvby—) o 4428® | EF0.0.1.1 | ik OE | 3140m 2 B 3:37.9 13.9 | 3140m = B 3:33.5 13.6 [ 3380m = R 3:51.0 13.7 | 3930m = R 4:42.8 14.4|4250m 2 B 4:58.2 14.0
BH_EKHUE (BT =] 11,226 |2 0.0.1.4 | 2mi1213] - - 3.7 (1) 115 39.5 (17) 135 38.7 (12) 315 38.2 (19) 115 36.9 (28) 115
HiRH 19367 | #0%£23£0i80 | £ 0.0.0.13 [ 58 0001 | TM'0(4.2) SRk [ 797 boT 44(6.3) kS [ 7R Whviv (1L T) Sk | TAI-#4YY (9. 0) Aok | 1Y 197304y (15.2) Seksk
R"4O HT “A: : : | mEF0.0.0.0 | B%0.0.0.0 | 19.04 20 59 %285 | 19.03.23 10 3T [19.01.12 43 TFRIL3 | 18.09.22 56 4 1L6 | 18.08_11 60 2% m5
SEILEI D= At | B 486-508 | BR#0.0.0.0 | Zh1.224 | A—T> -7y | RAHPRS -7y | hlLmED 7y | ERS Yy 7y —Fy -7y
< - 60.0 .059| Fr 58-60 BEO1.1.0 | =F0.23.136 1458 8EIOA 6  UEIBIA BA|11 MEIBIA BR|9  108I0FE 6A ks [8 128 3HFIOA
1|7 SHELYI VLY Hag NE0.0.1.0 | 3 REEFI | 496 -2 LB 60 QDD | 498 -24 LFHMW 60 @OG | 522 +4 FEF 60 @D | 518 +8 A+ 60 @O | 510 -6 HEFA 60 QDD
(Sx TRy k) =i 034 BEFR0.0.00 | ik 2@ |3380m Z B 3:44.9 13.3|3350m ¥ #§ 3:44.1 13.4 | 3200m Z B 3:42.0 13.9 | 3210m ¥ % 3:41.3 13.8 | 2850m = B 3:06.0 13.1
St i8R (RATET) [#£]| 14527 |2 01.1.4 | 2H1.4517| - © - -©- 39.2 (13) 215 38.6 (10) 415 39.7 (20) 155 39.0 (16) 115 38.1 (15) 125
HPE 3893.675 | #0%:520i80 | £ 0.0.0.10| 28 0 1 1 11| Rty (2.0) AR | Ui 07 10.0) sk |vhlybn A@.0) M | vaNy 007 b4 1) sk | od )y (.8 S
s N TREA 1.1.1.3 | Zh1.3.45 -7 -7y | EKRKR— -7y BE BE =
A TavduF 60.0 . 231| i 59-60 0.0 | =F0.0.0.2 [4 1458 1% 9K SR |10 1458 8% TA 1 MEESBSA 4 |4  12B9B3A s |3 14E2BIAN W
1|8 a1 cosr7arx 28 | LT 1.0 | 3% REEFI | 490 -4 TR 60 Q©O@ | 494 -4 BATA 60 @O@O@ | 498 +16 BATA 60 @®G@ | 482 -2 MATA 60 @@ | 484 -8 EFIK 60 WOG
(¥ a7x) . 0.0.0 | ehit OE |3380m = B 3:44.7 13.3|3140m = B 3:35.9 13.8 | 2970m % B 3:21.6 13.6 [ 2750m ¥ B 3:02.5 13.3 | 2850m & R 3:05.4 13.0
AU (R FHD) [%]] 1.3.4.16 | & 0.0.1.1 1347 | @ -@- - 39.2 (12) 155 3.7 (12) 215 37.8 (6) 445 3.7 (6) 535 36.5 (9) 335
AT 31537 | #0%3%£1580 | £ 0.0.0.9 [ 4258 1125 [ 4k (1.8) HEE | ' 02.2) Sk | $9a17°F -5 - (-0.8)5% ks | Y15 (1.0) FekE | UT AT V(1.8)  HEE
VEPES H8 [ 62 AL . | m#60.0.0.2 | Z5%0.0.0.0 | 19.04.06 62 Ti&1 [ 19.01.26 10 25RET | 18.11.25 63 GR#R8 | 18.11.03 58 3%&E1 [ 18.04.08 41 52
IRy uHITY—3 oA | 5 484484 | IR#0.0.00 | ZA 1001 |A—T> =7y [FBEALDY 17 -7 =7 -7 =7y ﬂiﬁ#ﬂ HE
R 60.0 .162| fF 60-60 | #0000 | =F0.003 |6 1438 4% 6A 5 838 4% SA 5 11E 4F TA 7 147 6F10A 1458 3% TA
8|9 Jo—H#xv R B | ZRE— /VE0.0.0.0 | 7% 100075 | 494 0 BEEI 60 D@D | 494 -2 BIEE 59 ©O® | 496 +2 HHEE 60 DO | 494 +10 FEMA 60 DDD 484 -2 ;ﬁ,&mu 60 @D
HUT—HALUR) FE 180 FEFR0.0.0.0 [ bk O |2750m % B 3:01.6 13.2 |3170m ¥ B 3:36.3 13.6 | 3170m = B 3:35.4 13.6 [ 3350m ¥ B 3:43.1 13.3 [ 2750m = R 3:04.2 13.4
#HAI7-L(FEH) [%]| 44440 | 1001 |2m@1.004 | - ®--- 40.2 (1) 525 40.0 (13) 135 38.0 (10) 245 36.6 (13) 225 38.8 (5) 545
ZHER 7243275 | #05%120i80 | £ 3.4.4.36| 4l 0 115 [ 5 WK 7 $49(0.4) %EE |78 5h9b(3.7) ks xmm:& (1) sk |90 suqhh(2.6)  Seskese | b-7oth)(-0.5)  Se%e%k
BRI NN HE6 | 44 B . ... . | 2£60.00.0 | Z5%0.0.0.0 [19.02 02 Tehsb5 | 18.12.08 46 IhR3 & 2588 |18.08.04 & 2Fums |17.12.03  F b5@L2
F—UIvh— ;?—)43., s : ggoggzo mﬁ’? 8 g? 52? g 8? g-;;_?:r/s 4% s)\H,y ﬂﬂll{tzgmé 5A e %ﬁ"éﬁ% 9)\1002#75 .I)E%J“zﬁlﬂgﬁ 3)\10035* }8007130 W TE 9)\1002:5
. . - = = 88 88 L 85 bl
8 [10 Y- ULy K B’ | tE#k NE0.0.0.0 | 55 10005 | 548 +28 BEHK 60 @R® | 520 -8 B#HE 60 @D 528 +2 HIE 57 DD | 526 -6 s£@E 54 DD [ 532 +10 £@E 57 DD
(RFAT—=LF) £# 079 EF0000 | it 1@ |3330m =z B 3000m % B 3:19.7 13.3|2200m ¥ B 2:12.3 36.1 [ 2000m ¥ B 1:59.6 34.6 | 2500m ¥ B 2:36.3 36.6
%5 IE (B2 [%]] 4.0.1.15 SRE10.01 [ - ove s 38.4 38.5 (6) 525 |HHH 35.2-34.7 (4) 532 |MMH 36.0-33.3 (4) 532 |SMH 37.4-35.0 (5) 532
ALATFL—ER 339075 | 3051080 | £F 3.0.1. 14 e 2013 FfefE | -34v(0.4) Sesek | a-hwauh(1.4) ek | i ai-x (1.3) EEE | AvA9n 7a-L(1.6)  KEE
SR 3030mFEAL B AR ($ETHIRA : 2017. 05. 09~2019. 05. 08)
|[:tod *i#i%g- N HEES 1F 2%&F 3F &S Bz T
1 TUNYBRUATT 1 1 0 0 0 1.000 1.000
2 A vavyLYy 1 1 0 0 0 1.000 1.000
3 FATILARTA— 3 0 1 1 1 0.000 0.333
4 FEILYL—Y 2 0 1 0 1 0.000 0.500
5 ALIADv— 1 0 0 1 0 0.000 0.000
6 FUTNANAN 1 0 0 0 1 0.000 0.000
7 ARFazYr—2 1 0 0 0 1 0.000 0.000
8 ALEFIv L 1 0 0 0 1 0.000 0.000
9 N—vsSq 1 0 0 0 1 0.000 0.000
10 TSvsaqF 1 0 0 0 1 0.000 0.000
= o m R I N . L. IR, HAOFGERLL. HEIGH, MTAEE S, §RTEMEFITOMERLMAEL TR,
20194E511H (1) 3ESEE7H 8R H2LELWRNA Vv > 7 ¥ I REHARL B A -7 (RE) Al 3930m 2 AR BOKE, BHRERCET.




